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Multi-Step Problems

Multi-Step Problems

Ta. Use the cards fo complefe the part
whole model.

Tb. Use the cards fo complete fhe part

‘whole model.
2,135
1,444

20. Complefe the bar model.

2. Comb'de the bar model.
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8,498

1,552
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30. Tony thinks of a number.

s he adds 6424 and subacts 2625,

3b. Alycia thinks of a number.

After she sublracts 3724 and adds 2,999,

What number did he starf with?
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What number did she start with?
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4o. Which of the following cards create a
two-step calculation that gives 6,184 as
the answer?

4b. Which of the following cards create o

H 3,566 H 4,105 ‘

two-step calculation that gives 2,875 as
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‘ 3,488 ‘ ‘ 5,645 ‘ ‘

the answer?
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